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SMN: 2B
F: LAEE BH(SBHLS /A6 - = F)
CHel AR XY KAL (SENSSEEH) (e &
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
J| 2,896,798
= 2,904,092
ZFOXIHAS X (IBD) 2,896,798 3,795,118 898,320
p) 2,896,798
101 Q1 24| 100,000 66,577 33,423
p) 100,000
04 JI2AN222NHSES 100,000 47,997 52,003
ODFSDIEHAIE HHl L SENSES(S-H) 100,000
—ol=el 100,000,000 100,000
Il 100,000
201 L2 A 21,120 76,500 55,380
Jl 21,120
01 At 22l 20,000 10,000 10,000
OFI-IE=2a] 20,000
—$HIAA FOXAMNY BSEH2AL
IE eI 20,000,000 20,000
Il 20,000
02 B232%Yl 1,120 66,500 65,380
OZ2Z23YAA 1,120
—FOIXNFAY 23 QEYSE 1,120,000 1,120
p) 1,120
202 04 6,280 2,589 3,691
J| 6,280
01 20l 6,280 2,589 3,691
FOXRAY JIEXR2 HSAE EAHD)
2,680,000 2,680
Il 2,680
OF XA IZXNBEAHS - H)
3,600,000 3,600
p) 3,600
307 QI2t0| & 463, 140 502,226 239,086
p) 463, 140
02 QI2tAAE X 463, 140 502,226 39,086
OF QXA 463,140
— XX &AL 338,074,000 338,074
p) 338,074
— B2 ALY 125,066,000 125,066
J| 125,066
401 AlEHI 221 614,616 650,663 A36,047
p) 614,616
01 Al&H 605,616 643,633 A38,017
OF QIR ALY 605,616,000 605,616
p) 605,616
03 Al 2 HYl 9,000 7,030 1,970
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o _ _ SIEN
A3 - 22A(ZAH) - MBAY - BE=S &HeR Ol Ak O s
OZBIXI AL () 5,000,000 5,000
g 5,000
OXQNAAL (S - &) 4,000,000 4,000
Dl 4,000
402 QI2EXHR O H 1,691,642 1,685,652 5,990
0l 1,691,642
01 QIIR=BE 1,691,642 1,685,652 5,990
OZBIXI ALY 1,191,642,000 1,191,642
g 1,191,642
OZADIA 22 X (HEH 0123 XN)
500,000,000 500,000
Ol 500,000
ZOIRIAG RIS (XA ) 41,463 354,863 ~313,400
101 124t 20,523 18,207 2,316
04 JI2H2ENSES 20,523 18,207 2,316
ZOIXAAY JIEREZA Q12 (&5H8H])
37,110 » 3% « 282 * 38 23| 18,704
OFXVAMY JIZNEXA Q12 BHE (45
BH)|) 18,704,000 * 9.72% 1,819
201 LEH2 | 10,000 16,416 16,416
02 2zl 10,000 14,416 ~4,416
OZZL2ILHIA 10,000
—FONBANY BE 22ZRB(MIIE S)
10,000,000 10,000
202 04l 8,640 12,240 3,600
01 ZLHOI b 8,640 12,240 £3,600
O4BIRH =2 20,000 * 2% * 62 « 128 2,880
OFUXAY JEZREXAHZ)
20,000 * 3% * 8L « 128 5,760
303 Z& 3 2,300 5,000 £2,700
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SHAHI(2Z D) (JIEH/IIE) 21,508 0 21,508
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z 2,908
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WPBE(S2) (AP S/NEILE - 25
HEHAXIES (B2 (EMEEE3IH) = RS E
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS Abod e =
| 183,452
—dolE3ot=xeld 2F 470,166,000 470,166
Il 470,166
—asl 3oty 2Y 176,090,000 176,090
| 176,090
— M ESEG=XeE 2F 276,942,000 276,942
| 276,942
—sE2aXeld 22 708,669,000 708,669
Il 708,669
—Jtdotsol=E 29 24,861,000 24,861
| 24,861
—olsotSote=E 29 9,452,000 9,452
| 9,452
—0IAtOFS0 =5 22 9,623,000 9,623
Il 9,623
—MIUOtSol+=E 2Y 11,508,000 11,508
| 11,508
—3gotSots: 29 9,257,000 9,257
Il 9,257
—dS0tSot=E 2Z 11,689,000 11,689
Il 11,689
—&F0tSol=E 29 7,397,000 7,397
| 7,397
—JH&0tSotsE 29 18,056,000 18,056
Il 18,056
404 SIOGNENEZ 5,048,500 5,135,000 286,500
| 5,048,500
01 BIILSEIAHN2NES 5,048,500 5,135,000 286,500
Ot MLEEIAHEESS (BHEII AL HA
) 147,500
—Jtg33ot=HMal & AAMA 67,500,000 67,500
Il 67,500
—dEIIot=HMalE A& 80,000,000 80,000
Il 80,000
Oot=CS ML EEIAHN2NES (B E D=
HXA) 4,901,000
—Jtg33ot=HMal & 2x 4 302,000,000 302,000
Il 302,000
—MEES3ot=XHeld sS4 80,000,000 80,000
Il 80,000
—dorZ 3ot ML 1,090,000, 000 1,090,000
| 1,090,000
-0t B3ot=HelZH(A272) 30,000,000 30,000
Il 30,000
—Me33ot=HelH3 (LA 72) 558,000,000 558,000
Il 558,000
—H=2335t+HdE (AR 2) 60,000,000 60,000
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